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ACPS SCIENCE CHEMISTRY STOICHIOMETR iz
— Y 4 Zn+2HCI > ZnCly + Hy
: lmmdzﬁwbm“hﬂ. ride that is produced in the above
il A 0.125 gram
Show work in box and circle the correct answer. ngamz
42 D. .018 gram
2H,S (g) + 30, (g) - 2H,0 (g) +
280, (g9) e N e e s s i 0 S
‘Write the balanced chemical equation here:
umsaﬂzsm“ummmmwummwamnn a2 M% 3 L0, = L M50
Ry 0.102g — = —_
B.0.185g
v
c. 10
c D:20
CH, + 20, — CO, + 2H,0
The number of of required for the complete combustion of 4.00 grams of 6.
g2 p 2CH,, + 130, — 8CO, + 10H,0
A 400g
T% quwnhmz inthe reaction shown?
D. 320g 1 A.;4 \ -
C.4:5
s Cu(s) + 2AgNO,(ag) —> Cu(NO,),(aq) + 2Ag(s) e
74
equation, the number of grams of - _ -
oiweobpcsmohi-poplsodey oo iy e 2KOH + H,80, - 2H,0 + K,SO,

anmhm-mwwmmwmm




